10.

11.
12.
13.

g & fou Al

(39 YfishT & F99 3METUT §8 YT 97 39¢-U7 & gl gl av
Faer Hiell-HTell areT-@ge 97 @ g @)

e IR i & 30 fie & o & <@ o o TeAeE # w9 % AR € iR #E
Y LT & 81 YR SNh TS ST TR SH YT eohTel hed-FRiereh i qoht ot
TG I T QeRl I SR |
JT-UF AT [OMR] @ 13r 727 &1 3@ 7 at 7 3y 7 & faga #1 gawr 3av-u7 g1
faar srEm
YT STThHIh T STR-TF 1 AT JIH E0-J8 W 09 ¥ foiRa ©H R fag|
JUV-UF & FI9 B U¥ U9 @ 3T R ATE e T ¥ for@ agr A4 134 gar &t
TGT &Y U7 @ Y | STgi- T8l HATa9aE gl agl 99- Yt &1 &Aid, Qvet #ig a91 9
&1 T@Y 3l W o f1g|
3o THo Ao I-UF WY A% WEAl, JIIGfa®l Q& d W W&l (7T FF
&), BUeX HIg TAT TYTYeaeht UX STgehdia 3R 3fto THo 3o IY-UH G&AT & Flarzal
¥ 3UREET eIy a1 HIeHT §7: @ Hi AFA T8l 81
I gfafeal 8 &ig 4t aRad+ && g T AT g7 =Mfed =TT 98 & Siqferd
|TEA T FI1T JHT STET
g9 797 gikaaT 7 o7 100 aglaswedia 797 §1 997-giiat 3 g4 997 & i dalcis
I 132 13 &1 A% F97 & d@fcu® 3T & [0 ATYHT IAV- A FH1 Gl Gl & qra
33 74 g9 &1 39T-UF & F9H U U 139 79 [N & AR 97 @ YT T T FHEAT
gl
YIS 99 o ST h [T haet T & I ol Mel R & | T | e gl i el H
T 37 Th gq H U A T 98 IW TAd J=1 S
&I 3 1% U@ Y @gl gRT 3fehd 3T agell A8l 5T ar &1 qlg 3T faHEt g9 &7 397
81 31 aEd &, @l |arya gfed & A 5d T4 g9 g9 & @ 918 31 U8 5V 0 g
e 4 s
T FE & [T Te-IfKen o @Us & e e §e a9 Sw-q&m & 3ifai 7o
& TN &
TR & SWIN 39e7 3t TH S IaT-T7 TI&T 9o § o & <l
TOeT HU g9 ¥ Ued Te 99 § ael S S STAfa T g
afe g s when & srfad Wl &1 A w8, @ 96 fvafame gr fifa
< S 9AT gl
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95. WAl Wafd -

(1) T
(3) Tfaen
96. IXIHHEIY afd -
(1) SrEm
(3) TR

97. ad — fmiore fag=: |f= |
(1) s

(3) SATHII

98. M: RIS oh UISIATHN?
(1) e
(3) <H

N

99, IMHITH Hid Fd: FHIAGARIdI
(1) 1504
(3) 1600

100. JEEL I AT : ?
(1) TR

(3) ek

*kk

< ?
M4

30

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

1581
1605

683/Samveda (i)

100

Time : 3 Hours
qHT : 3 gUS

Note: (1)

(2)

(3)

683 /Samveda (i)

Research Entrance Test-2023

No. of Questions : 100
Y91 skt €= : 100

Full Marks : 400
qurls : 400

This Question Booklet contains 100 objective questions (MCQs)
of which 50 Objective questions are based on components of
Research Methodology and 50 Objective questions are based
on concerned subject.

9 ULA-RTH H HA 100 TS 997 (THoHoFo) € |
ST 50 axfTe use <Y Ul & Huchl 93 SAEma 8
AR 50 IEfrse gs= defad favg ud &5 o onaa 2 |

Attempt as many questions as you can. Each question carries
4 (Four) marks. Zero mark will be awarded for each
unattempted question. There will be no negative marking for
wrong answer.

IA 99T B BA HIA BT JIH B oTaAT 3T HT Tob | IIh
U 4 (|X) SFhT &1 2 | e AT 99T H Ui A
BN | T 3cdY o [T bl SROMHS i el 3T S |

If more than one alternative answers of MCQs seem to
approximate the correct answer, choose the closest one.

i IS TSl & Teh § 39 Jehicdsh IOY el I &
e udid 8f, af Mehead 98l I < |

3 P.T.O.
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01. The marks of 100 students of a class revealed that about 80 students
scored below 20 marks, 10 students scored between 20 to 80 and
remaining scored between 80 and 100 marks. Which of the following

02.

03.

statements is correct for such data ?

T% HEM & 100 BET & 3l § IaT Il 6 @ 80 BET « 20 € HH {d W<
f, 10 BET A 20 @ 80 & e &% W R Sl AW 7 80 | 100 9 F
3 o fpu) XY eipel @ fore fefeRag & @ -ar e @@ R ?

(1) Mode of the data will be 30
AT & TgaH 30 B

(2) Skewness of the data will be negative
SATHET &1 RO FOIHS  EFT

(3) Kurtosis of the data will be equal to 3
TS 1 FIRA 3 B qCEAL BN

(4) Skewness of the data will be positive
TRt &1 oSO a=qs e

The vertical axis in a graph is known as :
% A FHeAigx A& FH JEN SR 8

(1) Reference Line (2) Abscissa
B qfemar

(3) Ordinate (4) Double ordinate
affgse gel Affee

Find out the median of the given data set :
11, 12, 14, 16, 16, 10, 18, 19,9, 20

feu wu offweT @==" HI TAH TG B
11, 12, 14, 16, 16, 10, 18, 19, 9, 20

(1) 15 (2) 16
(3) 13 4) 17

RET/23

89.

90.

91.

92.

93.

94,

‘T’ Ve HE AR ?

(1) THHEEE (2) THfRTER:
(3) k= (4) T A

“TeEEE:” s W VS g arHeh: ?
(1) HEra: (2) TR
(3) uRemfew: (4) TS

ACTEALIGS TIShT: Hd ?

(1) 7 (2) 10
(3) 6 (4) 8
U RIS GH add -
(1) STEAIVISAEY (2) <AIEAEIA L
(3) TS (4) frafa =
Sifgrastiags favermfa -
(1) TEULY (2) T=g @Uey
(3) fg wrey (4) TouY ULy
SRV | Hafd -
(1) STEIEvISITEET §8 (2) CATSAETLA 6T
(3) WSUIRRITT He (4) Eo: TE

29

683/Samveda (i)

P.T.O.



RET/23 683/Samveda (i) RET/23 683/Samveda (i)

82. FHIHfaTh: SeETes: M | 04. The digital repository of theses and dissertations submitted to
(1) e 2) e universities of India is known as :
(3) e (4) 3Tdeh: qRA & faeaiqeneadl § uegd Y vl ud e MEdl & it We
®H ST ST €
83. WA= | (1) Shodhganga (2) Shodhsindhu
(1) Frepmemsy (2) FACIIUISHTHEFH et SNy
(3) TSRS (4) SRI9efcHRH (3) Shodhgangotri (4) Vidwan
ST CEW
84. hid I waf= ?
(1) ER I B (2) TehfoIfaImT: 05. Which among the following pair is not correct ?
(3) CRIUM: (4) UhISRHM: Fr=fafaa § 9 ®i=-91 7§ d@8 q81 o 7
(1) Regression — Galton
85. TUH HINHTHR LTI ToThRI - SRR - e
(1) FIEFETT: (2) T (2) Correlation coefficient — Pearson
(3) HIR: 4) wisfa e T — R
86. ‘TAMSTEAT’ SHW AMIR - (3) ANOVA - Fisher
(1) RS (2) TEETE R T~ e
3) AR i ) e (4) PCA- Gfluss
qEiT - |

87. =Y ATHIUhYY M - , , , . .
06. The checklist used to improve transparency in systematic reviews is :

(1) TIheE: (2) T -
. S— Zraikegd gHiemeT § URERiar # dgaxy g9 & [T IYART & S At
(B8) == ) ’ EEINECAN-IE
88. AU add - (1) META (2) COHEART
(1) ThHEFAIHDBH (2) GRS T3S TreNTasueTel
(3) TANGHAATHET (4) EREECHSH (3) PRISMA (4) MAXIME
JSREARTATHT RUINEE I EREE

28 5 P.T.O.
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07. The measur;r;:nt scalg with an absolute zero is : 6. a . 2 x|
NESEEEI o ® o
(1) Ratio Scale (2) Interval Scale (1) fage T 73fq |
3 e A (2) fag wi | T3t |
(3) Ordinal Scale (4) Nominal Scale o
Shih HTG e Ao (3) Toer wa &, Igd: Felfaydi |

(4) Tagmr T <Eafd |
08. Among the following sampling methods, which one falls under the
probability method ?

fFreifafad afeeae At & @ SF-ar dwrerdn &t & ofatd o © 7 77. THIETT T |
(1) Judgement sampling (2) Quota sampling (1) <ot TmEsh (2) el s
Frof sferera CICIIIRERE :
. . . (3) T T (4) Hiw:
(3) Cluster sampling (4) Convenience sampling
Sfcrer o Sfcrer
U E 78. ITHRYSRRAAN 1 A9 CRAwRYafT ?
09. The pumper of possible samplps of gize 2 out of a population with size (1) gt (2) EEURI
5 using simple random sampling with replacement is :
gfeeeue & A1 X AGRS% eI & SUANT Hih SRR 5 Al (3) Ffemi (4) BRa
SHEET J H MR 2 &% @A dHad ufaest @ d= © o
(1) 25 (2) 20 79. IS JUISHT: Ff |
(3) 10 4) 12
(1) <1 (2) HodRR
10. The sampling rpethod generally used for gathering information on (3) BEW (4) |
rare events 1s:
HH HESATAT 9X SRl THS B & [0 eI gz fafer @ c .
SuhrT AT ST ® s 80. WHIIARR—IYUIAH -
(1) Simple random sampling (1) EHI=H (2) FRH=AH
e A A @) ST (4) TR
(2) Stratified random sampling
SNERIRIHECIIRERE 81. edSIEhaTHH I: FE: T: |
(3) Snowball sampling
y 1) 31dshu: 2) UISHA:
e (At s () (2)
(4) Systematic sampling (3) H&IHA: (4) SgrshA:
shifieh Sfcrer

6 27 P.T.O.
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70.

71.

72.

73.

74.

75.

‘Tauta’ 3fa AeTaTR & de gl ?

(1) ShFelcH (2)
(3) e (4)
SIfshade: i T T 2

(1) ST (2)
(3) I (4)

TS
rdacH

R
ST

T guinEt S8 oTF Hue faumeh YEmis -

(1) T s=<f& (2)
(3) HIEH (4)
(e ceTe T hal 1R -
(1) THh<HSE: (2)
(3) e (4)
TR TEI: h: ?

(1) «g: (2)
(3) af: (4)
YehfarTH ReTfoTa: -

(1) S (2)
(3) RATH (4)

26
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11. Match the given study designs in Column-I with Column-II and choose

correct option :
-1 7 3 T ofemTe Srfiiehedl B & I 9 e ofiy 9@ faseew
N

Column-I

q+-1

A.

Cross-sectional
e Il
Case control
FH B

Cohort

hIETS

Code :
T :

(1)
(3)

A-(i), B-(ii), C-(i)
A-(ili), B-(ii), C-(i)

Column-II
T H-11
(i) Data comes in future.
e wiosy & fra 2
(ii) Data comes at present.
g e 7 e 2

(iii) Data comes from past.

Hiws @ 9§ B

(2) A-(ii), B-(i), C-(ii)
(4) A-(), B-{i), C-(ii)

12. What is full form of USB as used in computer related activities ?

Frex A defad TfaareE § Iu 9 ard USB &1 9o &9 #41 8 7

(1)

(3)

United Serial Bus

TAEeS RG99

Universal Security Bus

Firade R s|

(2) Ultra Security Bus
el R =9

(4) Universal Serial Bus

Fiada dRad 9

7 P.T.O.
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13.

14.

15.

Which among the following can be used as post hoc test for means ?
Frfafaa § @ &9 "l % e qiee-gfe 9iiET &l 3aele © ?
(1) Run test

T e
(2) One Sample t-test

U Sfcest -
(3) Chi Square test for goodness of fit

Tenq 3G e % [T 1 & e
(4) Independent t-test

e RE ISRt

Which among the following is a referencing software ?

frefafag & @ ®I9-91 U IHIRET Gigeday g 7

(1) Canva (2) PubMED
el EECE

(3) EndNote (4) Sci-Hub
Z=Ale aE-eq

Which among the following is not an example of plagiarism detection
software ?

fr=fafiag & @ o aifefcas = &1 991 T ar QiFedIY HT a0l
& 2 7

(1) Mendeley (2) Drillbit
EEK| ENIEC

(3) Urkund (4) Turnitin
ITES affest

9

RET/23

62.

63.

64.

65.

66.

67.

68.

69.

HHAS IS YSTRI0l shid @Uel: | ?
(1) 03 (2) 08
(3) 05 4) 10

JIAR UG hid LR |f ?

(1) 02 (2) 06

(3) 04 (4) 08
TSRO Shfd TSR | ?

(1) 09 (2) 05

(3) 07 (4) 03
iragaToT SfaarerfeTa: -

(1) SEeprfef: (2) dfgwan:
(3) T=AM: (4) ofmTfafy:
‘T T Tafd’ st we freeag st ?

(1) faufa (2) A=
(3) faaea (4) faanfisre
TRORIEH AR S<E | 1 goiaq ?
(1) foged (2) R
(3) IR (4) e
eIl ATeICE hid IET: FHAAR= ?

(1) o2 (2) 03

(3) 25 4) 13

qrafehyaifHse Toum: 1M i -
(1) TSuaq (2) SARTIIEH
(3) TEHMYEH (4) TR

N

25
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55.

56.

57.

58.

59.

60.

61.

Jedis—<ry fea=a ot waf< ?
(1) 44 (2)
(3) 36 (4)

R

gy T fohad -

(1) e (2)
(3) FSa (4)
qMacH Jaitdaeh fohafq suel |t ?
(1) == (2)
(3) UL (4)

N

IR qUEATG YR 7% Sfdfag: ?

(1) 2 (2)
3) 3 (4)
gaifAmafaaffie JemqEiveareTe-
(1) ScI&ehdl: H-T: (2)
(3) TRIeTHar: T (4)
‘eva’ ye=g fad=maia -

(1) Tgar wafd 2)
(3) efeHeifa gfa (4)
AR dfehTe hidfay Jafd ?

(1) fafaem (2)
(3) wefaEq (4)

24
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40
38

4
5

AT CHSAT: T
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683/Samveda (i)

16. The principle of experimental design which helps in minimizing the

bias is :

TR AT fHaid STt A & FAaH &3 H88 HIT ©

(1) Replication

P

(2) Randomization

AT BRI

(3) Local Control
T e
(4) Replication and Randomization

i iR ArgfeswiEmTT

17. The minimum number of levels in an experimental design should be :

T U AR J & H FYAGH & el e

(1) One (2)
U

(3) Three (4)
NG

Two

S

Zero

A

18. Which of the following experimental design is preferred when one of
the factors needs more experiment material than the second factor ?

ST Rl TH HE Bl gAL BH Bl godl H AR T G H
AEIHAT BIdl g, a1 Frefatad § 9 e 9Eee® AT @l

rerfaeRar & Sl g 7

(1) Latin Square Design (2)
qfest  STeRed
(3) Split plot (4)
SN
9

Lattice Design

qifed Stféresed
Strip plot

g wie

P.T.O.



RET/23 683/Samveda (i)

19.

20.

21.

The type of ANOVA employed in analysis of Completely Randomized
Design is :

gl qrefes ANeed & [y H ugEd T & qHR 8

(1) One way (2) Two way without replication
T SR & R e

(3) Two way with replication (4) Three way
fcpicr & &1 IAH GIEGECR

Which of the following is susceptible with research ethics ?

Frefafed & @ &9 Agda Afdwar & uia Afq-dagasia 2 7

(1) Reporting of research findings

g fepet @ Rafd

(2) Inaccurate application of analysis techniques

EESERIGERIE N I SRR KRR

(3) Choice of sampling technique

yfcaae Al & aae
(4) Faulty research design

Qe <y fEsga

In finalizing the thesis writing format which of the following would
form part of supplementary pages ?

At a@s wreq &0 Sifad ®u 39 § Frefafaa #§ @ HiE-a g3 geal
1 fewdr @ ?

(1) Appendices (2) List of tables and figures
Rfare e SR SRSt H g
(3) Table of contents (4) Conclusion of the study
et e A ey
10
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49,

50.

51.

52.

53.

54.

Difference between the average vehicles manufactured by the
companies during the year 2015 to 2020 is :

g 2015 F 2020 & A HHUf~E g FET aredl $ ofad &1 Sfax
2.

(1) 205.5 (2) 105.0
(3) 103.5 (4) 107.5

If G, and G, denote growth rates of Companies A and B from 2015 to
2020 respectively, then which of the following is true ?

af& G, NX G, A 2015 4 2020 T HHFEl A R B &l gfa ax &l
e B, @ et # @ sie-ar ' ® 7

(1) G,> G, (2) G, <G,

3) G, > G, 4) G, <G,
HHASE TIH: AR ST |

(1) Tnee: (2) WEIE:

(3) 3= (4)  ToIfersy]:
STERIUTfOT: S AHASIISTRTol JTe e ?

(1) dTUSISTRIo (2) WSROl
(3) ST (4) AR
“o1 eh, qq W 3fa A afvfa: ?

(1) SEAES (2) HUSHTMEQ
(3) TGS (4) BrRrAMAYR
ARt TrET add |

(1) FOEREe (2) oA

(3) WmHIeH (4) STgdAH

23 P.T.o.
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Instructions (Q. No. 49 & 50) : Review the given figure which shows the
manufactured vehicles by two companies A and B during the year 2015
to 2020. Choose the correct answer for each question given below :

fdsT (Jo Ho 49 QT 50) : Fuar A= Ruw T 7% e a¥ 2015 4
2020 % FAE A FHIHAT A X B Fma MfHd aedl & Ioiar 7, &
gHiEm FHIve | J= @Y T gd% 99 & fu @@ I g |

Number of Vehicles Manufactured by Companies A and B during
2015 to 2020

400

350 335 336 337
TS —
"'.'-‘-.‘,-.'h..-r‘o‘.
300 -
250 233 234 235

No. of Vehicles 200 -

Manufactured == Automobile Company A
150

100
50

0 T T T T T 1

2015 2016 2017 2018 2019 2020
Year

= #l= Automobile Company B

2015 | 2020 % XF W A A B &R
Rl et @ e
400
. 335 o 336 s 337
350 T 21U -—..--. [=F w8 --l-..,_ 91 ‘—‘
300 LR~ =N= ~m
233 234 235
250 205 206 207
ffifg =t @ g 200 G/W . -
150 A
- 8- fdeREy ¢ B
100
50 ’
0 T T T T T 1
2015 2016 2017 2018 2019 2020
T

22
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22.

23.

24.

25.

26.

The mean of the standard normal distribution is :
q{% T9MEET S &l JHieT 8 ¢

(1) Zero (2) One
gl T

(3) Infinity (4) Fifty
R =Y

In Harvard style of referencing for a book, which among the following
comes in the last ?

fordl gxas 1 Bds Aol § galdid & & o Hefatad § @ se-ar
T H ofar g 7

(1) Book title (2) Year of Publication
gl & RIS T I

(3) Place of Publication (4) Publisher
JPIMT bT T 1D

Which of the following educational program is not govern by IGNOU ?
e & & F9-ar Afers FEiHT IGNOU & Hanfad 78 & 7

(1) Gyan Darshan (2) Gyanvani
M &S

(3) Swayam (4) e-Kosh
Y -3

-

The word research is derived from the French word :

ad 9r=%, B9 == F 997 B

(1) Recherche (2) Reserch
R

(3) Ricirch (4) Resorce
R R

Which among the following is an example of open-source data analysis
software ?

Frefafag & @ &®i9-97 efu9-ard SThel [asasvT 9i¥eddy &1 THh
I&TEXO & 7

(1) SPSS (2) JASP
Tdo dlo THo THo So To THo o
(3) Graphpad Prism (4) SAS
MENE e THo To THo
11 P.T.O.
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27. What are the conditions in which Type-II error occurs ?

28.

I H=-a Rafoar 8 FEA @me-lI gfe Sow et B 7

(1) The null hypothesis gets accepted even if it is false.
LA IREFHT ST B W 1 @i & S ol

(2) The null hypothesis gets rejected even if it is true.

LA IREFHT T BN W A &I & S ol

(3) Both the null hypothesis as well as alternative hypothesis are
rejected.

T IR AR Sehieds TR Sl STEIBR &l SRl &

(4) The null hypothesis gets accepted even if it is true.

T IR T B W A ©igd & Rl 8

Following are some steps used in research. Choose the appropriate
sequence of steps in completion of research work :

g F IUANT fFT S At B AXoT FrEarad € 1 e ®E R 9 B
% [ =een 1 SR %H YA
(i) Literature survey
Hifee |eeor
(ii) Developing hypothesis
QReBTIAT &1 faehrd &Il

(iii Preparation of research design

STHHN ST X BT
(iv) Sampling plan

EINESRIE I
(v) Hypothesis testing

IReeTT T
(1) (@), (i), (v), (i), (v)
(2) (@), (iv), (i), (i), (v)
(3) (@), (), (iii), (v), (v)
(4) (@), (iv), (i), (i), (v)

12
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46.

47.

48.

The average monthly visitors (rounded) for site xyz in 2023 is :

g3c xyz & [0 A 2023 F HAifgs ofrad aLfw (qoited) fRas O ?
(1) 414165 (2) 414167

(3) 414168 (4) 414160

What was the percentage (rounded to zero) decrease in visitors from
April to May ?

AU | HE TH, A1 H UK (YT IX YOTRd) HHI Rl © 7

(1) 8% (2) 5% (3) 10% 4) 15%

The pie diagram given below, shows monthly expenditure of the two
families A and B on various items along with raw data of expenditure
as mentioned in the legend. What will be the ratios of radii of circle A
to B in constructing the pie diagram ?

= o g o™, =g & A itk & 9y v wE 9w &
aRERi A X B & HIfG® =¥ & &iAl 21 9B IR & FHer J g9
A & B & Fogrel &1 Agua @& 8rm 7

(1) 9:10 (2) 100: 81 (3) 10:9 4) 1:1
S — —
Family A | Family B
|
TRER A 5 yREr B
| O Food HIst
U Food $rstet | (%. 2700)
(5. 3500) | / I i
—— B cloth
cloth F93 | Misc. (5. 800) |
' (%. 500) ; |
I [ : '/_ i \  ORent fmEm '
| . D?:“’m“; ' ' e | @ 1000)
| 0% | | +1500) [ | [222%] |
| |Education | N [ | |education| / \ | Oducation R
e / cematonfier ||| \| R | (%.1800)
H.2r (5. 2000) ' N /=
/| Rent R : P 9 / O Misc, fafaer
||~ O misc. .y 9.88% 1800 |
(| RET | Cloth (r«l.sczsum [ 3 con| o) E
haaid 5 '

21 P.T.O.



RET/23

683/Samveda (i)

Instructions (Q. No. 46 & 47 ) : Review the monthly website traffic
data for site xyz in the year 2023 provided in the data below. Choose

the correct answer for each question given below :

HEsT (Jo Ho 46 du1 47) : HuA <irg f&u 70 a9 2023 # HAE< xyz %
qifass daarse IAEd STThS] &l Ui & | 9 BT U g% us—q &

foe |8 ST gH

Monthly Website Traffic data for the Site xyz (Year-2023)

xyz HIEC & foI0 A demge A siwe (a§-2023)

Month
LK
January
SECEl
February
EECE]|
March

AT

April

S e

May

2

June

SiA

July

SR
August
STITET
September
=R
October
AFLHT
November
SERESES
December

[EESE=EY

20

Visitors
ENET
3,50,000
3,80,000
3,00,000
4,20,000
4,00,000
4,50,000
4,30,000
4,70,000
3,80,000
4,10,000
4,80,000

5,00,000
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29. When the person lifts material that they have previously published

30.

and passes it off as their own new work is known as :

ST HI3 AR AUl ded d THNAG HI TS ATEN FH AT & AR 39
AYT AU HE H TG F TGT HIAT &, Al A HeE AW €

(1) Mosaic Plagiarism
Aol el At

(3) Self-Plagiarism
w-Aeia =K

(2) Accidental Plagiarism
HhIETh Hiigleash =R
(4) Minimal Plagiarism

AL HRERC Kl

Match the Column-I with Column-II and choose correct option :

e -1 ® ' I A A ol |8l fased g

Column-I
wWHq-1

A. Explanatory research

D STHE

B. Descriptive research

CREICERE R RRIL
C. Exploratory research
Goyel STgEe
Code :
g :
(1) A-(ii), B-(ii), C-(i)
(3) A-(ii), B-(i), C-(iii)

Column-II
w(H-11
(i) Understanding causes and

consequences of phenomenon

e & HRON AN GROME A qHE
(ii) Discover new phenomenon
TGS B G
(iii) Describing existing phenomenon

A1l AT & ao

(2) A-(), B-(iii), C-(ii)
(4) A-(ii), B-(i), C-(i)

13 P.T.O.
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43. Which statistical measure describes the central tendency of a data set ?

H-AT Gt Ao Alhst & AT Hl Had WG H ao &l © 7

31. Which of the following is not an appropriate tool for data analysis ?

Frfafaa § @ @E-9a1 s fasdve & [ S9gead Ul qE 8 °

) - (1) Standard Deviation (2) Range
(i) SPSS (ii) MS-Excel R T
THo Yo UHo TH TH oTH o-TFAA (3) Mean (4) Variance
(iii) R (iv) Python qey ENEY
M RN 44. What does a p-value in statistical analysis indicate ?
(v) Windows qifegsa fasawer § p-Aa= 4 R wxar ¥ °?
RN (1) The size of the data set
Code : et B T[T B SAHR
(2) The probability of obtaining results by chance under null
&< - hypothesis
(1) Only (i) (2) (i) and (iii) L URETT & SR A Bl ATHRAD TG F I FHA Bl Gl
Fad (ii) (if) N (iii) (3) The mean of the data set
(3) (i) and (iv) (4) Only (v) SAFET & T B A
y ) (4) The variance within the data set
(i) &R (i) P (v SATHSt & IH=AT H TG0
32. In an experiment conducted on goats, the following were measured 45. What does the term 'outlier' refer to in data analysis ?
on each animal in the study : Sex, weight (in kg) and birth order. The SAtpst & Fauer § ‘agfewy ue’ sm &1 Fr g 7 7
scale of measurement of these variables are : (1) A data point that lies within the expected range
FHAT g¥ FT T T AT H, TIE H TS oHdaX U MErad &l @Wﬁ%ﬁ@%@mﬁ@m%
HTET e fefeT, ast (Fpomo &) ofiT o+ &7 | & =90 & AT H gy (2) A data point that does not fit the overall pattern of the data
A S T AT &g S oiiepet & i Yot & fbe & 2m B
(1) Nominal, Ratio, Ordinal (2) Ordinal, Ratio, Ratio (3) The average value of a data set
A, U, hih hitieh, ST, ST ST e B ofad A
(3) Ordinal, Ratio, Interval (4) Nominal, Nominal, Ordinal (4) The data point that lies between the first and third quartile
hiteh, ST, ST e, T, shideh SATheT ag==g ¥ Ued SNk drEx Iqged® & = &1 "W

14 19 P.T.O.
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40. A longitudinal research design is :
UF Ages AFEUE AMHEHT T
(1) Studying multiple groups simultaneously
%3 TYEl H GHHNAS AT
(2) Collecting data at a single point in time
TH & T W SAHS! H HHET
(3) Observing participants over an extended period of time

U [qEaia G9amary ae SireE ol Seror

(4) Analyzing historical data
ufefs STTwhst &1 faLAuer T

41. Which research design investigates the cause and effect relationship
between variables ?
HIF-AT ATHI ARTHT T B G TAE-HROT GH= HI e Bl
g7

(1) Descriptive design (2) Correlational design
Ui AR HeHweTHE AR

(3) Experimental design (4) Case-study design
SN SATTehed HE-HAGT ADRT

42. Which of the following is not a primary purpose of a literature review
in research ?

=1 & & @i Ao aHieT ® e 3% T8l © 7
(1) To summarize the researcher's findings
SN & AT H HACHBL
(2) To provide a historical background of the topic
fwar 1 fceiiaes TodfH Y& H
(3) To identify gaps and justify the need for the study
SIG! B TEd BT A ST B AR Hl I S8l
(4) To present statistical analysis of the data

ATt o i fasaser awgd &

18
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33.

34.

35.

Which among the following is not an example of primary data ?
fr=fafea & @ @9-ar arafis offems &1 e 98 B 7
(1) Data collected through surveys
T B W A THEA SiES
(2) Data collected through interviews
THEH & HEAH & TH 3iibe
(3) Data collected from experiments
T UHR SThe
(4) Data collected from national census reports

T TOMT viqaes § UhEa aiihe

Kurtosis of a standard normal distribution is :

U% HEE TEHRT fFa¥er # fEHEdar © o

(1) Zero (2) Three
S d

(3) Two (4) One
q T

A subset that is chosen from population is known as :

Th IuEgEEE (8 Uh SHde @ g S 8, dhedrdl 8o

(1) Parameter (2) Variable
IS EN
(3) Sample (4) Statistic
yferast Faest
15 P.T.O.
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36. A Which of the following is not applied in research involving qualitative

variables ?

F=fafaa & & &9 ONcH® =@} K Mied & ad TgEd™ H ugER
T BT 2 7

(1) Proportion (2) Diagram
SRLIN] SIReC]

(3) Odds ratio (4) Mean
EEEECRIR] areg

37. Read the following statements and choose true statement(s) :
it wael @ 9@ AR g HOH A

(a) Independent variables are unknown variables.

Was =X TG ) 2

(b) Dependent variables are unknown variables.

¥ =¥ T = B

(c) Research decisions are made on dependent variables.

STIEEN o i o W B/ 9 2
Code :
EE\E :
(1) Only (a) (2) (a) and (b)
T (a) (a) 3 (b)
(3) (b)and (c) (4) (a) and (o)
(b) & () (a) IR (c)

16
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38. The sampling method in which after random start, every 'kth' individual

is selecting from the population list is known as :

UF IEfes® ARH & IR SIdE gl & s kAl @At & =g
HIA At "fcrerge & g o

(1)

(2)

(3)

(4)

Simple random sampling
M AE8S Ticeas
Systematic sampling
PHES, e

Stratified sampling
ISMENEEINCER]

Cluster sampling

eS8  Uier= =

39. In stratified random sampling, how the strata within the population

are decided ?

Thd agfees dfaad & sHEe & @ & Fgiver $8 B s

T 7
(1)

(2)

(3)

(4)

Randomly

giefesd w9 49

Based on specific characteristics of population
S % faferee [EQare T e

Using a pre-defined pattern

gg-MaiRa e ® ST F

Using geographical proximity

AR FHOAT & STER %

17 P.T.O.



